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QUESTION 1

A static website is hosted in an Amazon S3 bucket. Several HTML pages on the site use JavaScript to download
images from another Amazon S3 bucket. These images are not displayed when users browse the site. What is the
possible cause for the issue? 

A. The referenced Amazon S3 bucket is in another region. 

B. The images must be stored in the same Amazon S3 bucket. 

C. Port 80 must be opened on the security group in which the Amazon S3 bucket is located. 

D. Cross Origin Resource Sharing must be enabled on the Amazon S3 bucket. 

Correct Answer: D 

 

QUESTION 2

An application stores images in an S3 bucket. Amazon S3 event notifications are used to trigger a Lambda function that
resizes the images. Processing each image takes less than a second. How will AWS Lambda handle the additional
traffic? 

A. Lambda will scale out to execute the requests concurrently. 

B. Lambda will handle the requests sequentially in the order received. 

C. Lambda will process multiple images in a single execution. 

D. Lambda will add more compute to each execution to reduce processing time. 

Correct Answer: A 

 

QUESTION 3

A development team is designing a mobile app that requires multi-factor authentication. Which steps should be taken to
achieve this? (Choose two.) 

A. Use Amazon Cognito to create a user pool and create users in the user pool. 

B. Send multi-factor authentication text codes to users with the Amazon SNS Publish API call in the app code. 

C. Enable multi-factor authentication for the Amazon Cognito user pool. 

D. Use AWS IAM to create IAM users. 

E. Enable multi-factor authentication for the users created in AWS IAM. 

Correct Answer: CE 

Reference: https://docs.aws.amazon.com/cognito/latest/developerguide/user-pool-settings-
mfa.html#:~:text=To%20configure%20MFA%20in%20the,the%20risk%2Dbased%20adaptive%20authentication.
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https://docs.aws.amazon.com/IAM/latest/UserGuide/id_credentials_mfa_enable_virtual.html 

 

QUESTION 4

A developer is troubleshooting connectivity issues between an AWS Lambda function and an Amazon EC2 instance
that runs Amazon Linux 2. The Lambda function and the EC2 instance cannot communicate with each other even
though the Lambda function is configured to access resources in the EC2 instance\\'s subnet. 

How can the developer inspect the network traffic between the Lambda function and the EC2 instance? 

A. Inspect the VPC flow logs for network activity. 

B. Use the traceroute command on the EC2 instance to check connectivity. 

C. Analyze the Amazon CloudWatch metrics for network traffic. 

D. Use the telnet command on the EC2 instance to check connectivity. 

Correct Answer: A 

Reference: https://aws.amazon.com/blogs/aws/vpc-flow-logs-log-and-view-network-traffic-flows/ 

 

QUESTION 5

A Development team currently supports an application that uses an in-memory store to save accumulated game results.
Individual results are stored in a database. As part of migrating to AWS, the team needs to use automatic scaling. The
team knows this will yield inconsistent results. 

Where should the team store these accumulated game results to BEST allow for consistent results without impacting
performance? 

A. Amazon S3 

B. Amazon RDS 

C. Amazon ElastiCache 

D. Amazon Kinesis 

Correct Answer: B 
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